

<p>Associative Property of Addition</p> $a^2 + b = b + a^2$ $3n + 9\frac{3}{5} + 1.5 = 9\frac{3}{5} + 1.5 + 3n$ <p>(wy) • z = y • (wz)</p>	<p>Commutative Property of Addition</p> <p>Associative Property of Addition</p> <p>Distributive Property and Subtraction</p> $7(90 - 3) = (7)(90) - (7)(3)$	<p>Distributive Property and Addition</p> <p>Associative Property of Addition</p> $4 \cdot b \cdot 14 = 14 \cdot 4 \cdot b$ $n \cdot 1 = n$
<p>Associative Property of Multiplication</p> $5 + 0 = 5$ $a \cdot 1 = a$	<p>Commutative Property of Multiplication</p> <p>Identity Property of Addition</p> <p>Distributive Property and Subtraction</p> $4 + 5 = 5 + 4$ $15 \cdot 3.2 = 15(3) + 15(0.2)$	<p>Commutative Property of Addition</p> <p>Associative Property of Multiplication</p> $4 \cdot 8 \cdot 80 = 80 \cdot 8 \cdot 4$ $(6 + 3) + 7 = 6 + (3 + 7)$
<p>Identity Property of Multiplication</p> $0 + 4 = 4$ $rs + rt = r \cdot (s + t)$	<p>Commutative Property of Multiplication</p> <p>Distributive Property and Addition</p> <p>Identity Property of Multiplication</p> $6.7c + (\frac{17}{6} + e) = (6.7c + \frac{17}{6}) + e$ $(\frac{1}{2}) + u + d + o = d + o + (\frac{1}{2}) + u$	<p>Commutative Property of Multiplication</p> $6(\frac{2}{3}) = \frac{2}{3}(6)$ $11\frac{1}{4} \cdot (2 \cdot 9) = (11\frac{1}{4} \cdot 2) \cdot 9$ $h \cdot \frac{m}{4} \cdot r = r \cdot h \cdot \frac{m}{4}$